
SAP ABAP table REAJ_PRESTAGE_L {Prestage Adjustment Record: List Fields}

REAJ_PRESTAGE_L

ADJMREASONCEA [CHAR (10)]

EXPPOS [CHAR (8)]

EXPPOSGRP [CHAR (8)]

TIVAJEXPPOS

MANDT [CLNT (3)]

EXPPOS [CHAR (8)]
 REAJ_PRESTAGE_L-EXPPOS = TIVAJEXPPOS-EXPPOS 0..N

1 TIVAJEXPPOSGRP

MANDT [CLNT (3)]

EXPPOSGRP [CHAR (8)]

 REAJ_PRESTAGE_L-EXPPOSGRP = TIVAJEXPPOSGRP-EXPPOSGRP 
0..N1

TIVAJREASONCEA

MANDT [CLNT (3)]

ADJMREASONCEA [CHAR (10)]

 REAJ_PRESTAGE_L-ADJMREASONCEA = TIVAJREASONCEA-ADJMREASONCEA 

0..N

1


